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QUESTION 1

You recently joined a new team administering a database. 

You notice that full table scans are performing poorly compared with full table scans on the databases you administered
in a previous job. 

You decide that performance problems are caused by a misconfiguration of factors affecting full table scans. 

Which three factors should you investigate to determine the cause of the poorly performing Full Table Scans (FTS)?
(Choose three.) 

A. value of DB_FILE_MULTIBLOCK_READ_COUNT 

B. storing query results in the result cache 

C. setting of the DISK_ASYNC_IO parameter to TRUE 

D. setting of the OPTIMIZER_MODE parameter to ALL_ROWS 

E. use of parallel queries 

F. block size of the tablespaces in which the tables being scanned are stored 

G. value of the OPTIMIZER_DYNAMIC_SAMPLING parameter 

Correct Answer: ABC 

 

QUESTION 2

Which two statements are true about Active Session History (ASH)? (Choose two.) 

A. The Data Sample size available in an ASH report is dynamic and, at any given moment, is directly related to the
amount of work being performed. 

B. ASH contains sampled data from all sessions that are connected to a database instance at any given moment. 

C. ASH samples data from V$SESSION every second. 

D. An ASH report can be used to identify the service that may be the cause of a transient performance problem. 

Correct Answer: CD 

 

QUESTION 3

You want to capture AWR data to monitor performance variation every Monday between 9:00 AM and 

12:00 PM for three months and automatically remove the older AWR data every fortnight. 

How would you achieve this? (Choose the best answer.) 
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A. Create AWR baselines. 

B. Create SQL plan baselines. 

C. Create repeating baseline templates. 

D. Create database services and make sure that user connections use them to connect to the database instance. 

E. Create a single baseline template. 

Correct Answer: D 

 

QUESTION 4

Which three statements are true about the TEST EXECUTE method of the SQL Performance Analyzer? 

A. The SQL statements in the STS are compared only on elapsed time for the pre-change and post-change trials. 

B. The execution statistics generated for SQL statements are analyzed to check whether they have improved or
regressed. 

C. An execution plan and statistics are generated for SQL statements only in the pre-change trial. 

D. The SQL statements in the SQL Tuning Set (STS) are executed at least twice for both pre-change and post-change
trials. 

E. An execution plan and statistics are computes for each SQL statement in the STS. 

Correct Answer: CDE 

Reference: https://docs.oracle.com/cd/E11882_01/server.112/e41481/spa_intro.htm#RATUG170 

 

QUESTION 5

Your database supports multiple applications. The applications run on the middle tier and use connection for connecting
to the database. 

You notice that the sessions created by the applications are competing for resources. You want to statistically measure
the workload and set priorities. 

What action must you perform to achieve this? 

A. Create services for the applications and set a relative priority by assigning them to application users and using the
DBMS_MONITOR.SERV_MOD_ACT_TRACE_ENABLE procedure to trace the services. 

B. Create services for the applications and set a relative priority by assigning them to application users and using the
DBMS_MONITOR.SESSION_TRACE_ENABLE procedure to trace the services. 

C. Create services for the applications and set the relative priority of services within an instance by mapping the
services directly to consumer groups. 

D. Create services for the applications and set a relative priority by assigning them to application users. 
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Correct Answer: C 
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